Description: First Creek Middle School and Lister Elementary Safe Routes to School

Specification No.: PW18-0433F

		ENGINEER'S ESTIMATE			Low B Axum General C		#2 Bidder Sound Pacific Constrcution		
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
Schedu	ıle A: First Creek Middle School						-		
1	SPCC Plan	LS	1	\$500.00	\$500.00	\$255.00	\$255.00	\$500.00	\$500.00
2	Mobilization	LS	1	\$12,500.00	\$12,500.00	\$31,400.00	\$31,400.00	\$15,000.00	\$15,000.00
3	Pedestrian Traffic Control	LS	1	\$6,250.00	\$6,250.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
4	Project Temporary Traffic Control	LS	1	\$15,000.00	\$15,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
5	Clearing And Grubbing	LS	1	\$1,000.00	\$1,000.00	\$910.00	\$910.00	\$2,500.00	\$2,500.00
6	Removal Of Structures And Obstructions	LS	1	\$5,000.00	\$5,000.00	\$300.00	\$300.00	\$500.00	\$500.00
7	Remove Existing Pavement Type 1, Class C6	SY	50	\$50.00	\$2,500.00	\$22.40	\$1,120.00	\$24.00	\$1,200.00
8	Remove Curb	LF	90	\$50.00	\$4,500.00	\$4.00	\$360.00	\$6.00	\$540.00
9	Crushed Surfacing Top Course	TN	10	\$100.00	\$1,000.00	\$56.00	\$560.00	\$60.00	\$600.00
10	Erosion/Water Pollution Control	LS	1	\$3,000.00	\$3,000.00	\$512.00	\$512.00	\$5,000.00	\$5,000.00
11	Site Restoration	LS	1	\$3,000.00	\$3,000.00	\$1,572.00	\$1,572.00	\$4,000.00	\$4,000.00
12	Cement Conc. Pedestrian Curb	LF	90	\$50.00	\$4,500.00	\$36.00	\$3,240.00	\$35.00	\$3,150.00
13	Cement Conc. Sidewalk	SY	50	\$80.00	\$4,000.00	\$130.00	\$6,500.00	\$75.00	\$3,750.00
14	Detectable Warning Surface	SF	20	\$100.00	\$2,000.00	\$42.00	\$840.00	\$55.00	\$1,100.00
15	Portland Ave East	LS	1	\$89,500.00	\$89,500.00	\$108,782.00	\$108,782.00	\$105,000.00	\$105,000.00
16	Permanent Pavement Marking	LS	1	\$2,500.00	\$2,500.00	\$2,311.00	\$2,311.00	\$2,000.00	\$2,000.00
17	Removal Permanent Pavement Marking	LS	1	\$2,500.00	\$2,500.00	\$1,471.00	\$1,471.00	\$2,700.00	\$2,700.00
	Schedule A: First Creek Middle School Sub-Total				\$159,250.00		\$167,133.00		\$159,540.00

Description: First Creek Middle School and Lister Elementary Safe Routes to School

Specification No.: PW18-0433F

				ENGINEER'S ESTIMATE A			dder onstruction, Inc.	#2 Bidder Sound Pacific Constrcution	
Item	Description		Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
chedu	ule B: Lister Elementary School								
1	SPCC Plan	LS	1	\$500.00	\$500.00	\$255.00	\$255.00	\$500.00	\$500.00
2	Mobilization	LS	1	\$19,015.00	\$19,015.00	\$23,874.00	\$23,874.00	\$25,000.00	\$25,000.00
3	Pedestrian Traffic Control	LS	1	\$19,015.00	\$19,015.00	\$8,130.00	\$8,130.00	\$6,000.00	\$6,000.00
4	Project Temporary Traffic Control	LS	1	\$9,507.50	\$9,507.50	\$22,703.00	\$22,703.00	\$46,000.00	\$46,000.00
5	Clearing And Grubbing	LS	1	\$2,000.00	\$2,000.00	\$1,401.00	\$1,401.00	\$4,000.00	\$4,000.00
6	Remove Existing Pavement Type 1, Class A8	SY	430	\$20.00	\$8,600.00	\$14.00	\$6,020.00	\$23.00	\$9,890.00
7	Remove Existing Pavement Type 1, Class C6	SY	130	\$20.00	\$2,600.00	\$14.80	\$1,924.00	\$23.00	\$2,990.00
8	Remove Curb and Gutter	LF	160	\$20.00	\$3,200.00	\$4.25	\$680.00	\$6.00	\$960.00
9	Remove Pedestrian Curb	CY	12	\$50.00	\$600.00	\$7.00	\$84.00	\$12.00	\$144.00
10	Crushed Surfacing Top Course	TN	140	\$65.00	\$9,100.00	\$34.50	\$4,830.00	\$45.00	\$6,300.00
11	HMA CL.1/2. PG 58H-22	TN	80	\$200.00	\$16,000.00	\$210.00	\$16,800.00	\$170.00	\$13,600.00
12	Catch Basin Type 1	EA	1	\$3,000.00	\$3,000.00	\$1,218.00	\$1,218.00	\$1,400.00	\$1,400.00
13	Adjust Existing Value Chamber To Grade	EA	2	\$500.00	\$1,000.00	\$144.00	\$288.00	\$1,000.00	\$2,000.00
14	Reconnect Existing Sewer Pipe, 12diam To New Structure	EA	2	\$500.00	\$1,000.00	\$1,274.00	\$2,548.00	\$2,200.00	\$4,400.00
15	Erosion/Water Pollution Control	LS	1	\$4,000.00	\$4,000.00	\$807.00	\$807.00	\$7,000.00	\$7,000.00
16	Site Restoration	LS	1	\$3,000.00	\$3,000.00	\$2,510.00	\$2,510.00	\$6,000.00	\$6,000.00
17	Cement Conc. Traffic Curb And Gutter	LF	180	\$60.00	\$10,800.00	\$41.70	\$7,506.00	\$50.00	\$9,000.00
18	Cement Conc. Pedestrian Curb	LF	25	\$50.00	\$1,250.00	\$36.00	\$900.00	\$36.00	\$900.00
19	Cement Conc. Sidewalk	SY	180	\$50.00	\$9,000.00	\$81.50	\$14,670.00	\$60.00	\$10,800.00
20	Cement Conc. Curb Ramp Type A	EA	1	\$10,000.00	\$10,000.00	\$2,210.40	\$2,210.40	\$3,300.00	\$3,300.00
21	Cement Conc. Curb Ramp Type B	EA	1	\$10,000.00	\$10,000.00	\$2,040.00	\$2,040.00	\$3,300.00	\$3,300.00
22	RRFB Installation, East 44 th Street And East T Street	LS	1	\$45,400.00	\$45,400.00	\$50,070.00	\$50,070.00	\$55,000.00	\$55,000.00
23	RRFB Installation, East 44 th Street And Everett Ave	LS	1	\$51,600.00	\$51,600.00	\$51,300.00	\$51,300.00	\$55,000.00	\$55,000.00
24	Permanent Signing	LS	1	\$1,000.00	\$1,000.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00
25	Permanent Pavement Marking	LS	1	\$7,500.00	\$7,500.00	\$4,142.00	\$4,142.00	\$3,500.00	\$3,500.00
	Schedule B: Lister Elementary School Sub-Tota	I			\$248,687.50		\$228,610.40		\$278,984.00
	GRAND TOTAL				\$407,937.50		\$395,743.40		\$438,524.0
	DBE Total = Less Sales Ta	x			\$407,937.50		\$395,743.40		\$438,524.0

Description: First Creek Middle School and Lister Elementary Safe Routes to School

Specification No.: PW18-0433F

				#3 Bi	dder	#4 Bi	dder	#5 Bi	dder
				Ceccanti		Titan Earth	work, LLC	Transportation	on Systems
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
Sched	ule A: First Creek Middle School								-
1	SPCC Plan	LS	1	\$300.00	\$300.00	\$500.00	\$500.00	\$1,250.00	\$1,250.00
2	Mobilization	LS	1	\$15,000.00	\$15,000.00	\$32,793.32	\$32,793.32	\$7,845.00	\$7,845.00
3	Pedestrian Traffic Control	LS	1	\$1,800.00	\$1,800.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
4	Project Temporary Traffic Control	LS	1	\$14,000.00	\$14,000.00	\$28,000.00	\$28,000.00	\$25,000.00	\$25,000.00
5	Clearing And Grubbing	LS	1	\$4,300.00	\$4,300.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00
6	Removal Of Structures And Obstructions	LS	1	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
7	Remove Existing Pavement Type 1, Class C6	SY	50	\$28.97	\$1,448.50	\$42.00	\$2,100.00	\$50.00	\$2,500.00
8	Remove Curb	LF	90	\$17.00	\$1,530.00	\$6.00	\$540.00	\$20.00	\$1,800.00
9	Crushed Surfacing Top Course	TN	10	\$73.00	\$730.00	\$58.00	\$580.00	\$118.00	\$1,180.00
10	Erosion/Water Pollution Control	LS	1	\$3,400.00	\$3,400.00	\$9,500.00	\$9,500.00	\$3,000.00	\$3,000.00
11	Site Restoration	LS	1	\$8,300.00	\$8,300.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
12	Cement Conc. Pedestrian Curb	LF	90	\$30.00	\$2,700.00	\$69.00	\$6,210.00	\$29.00	\$2,610.00
13	Cement Conc. Sidewalk	SY	50	\$80.00	\$4,000.00	\$106.00	\$5,300.00	\$68.00	\$3,400.00
14	Detectable Warning Surface	SF	20	\$35.00	\$700.00	\$86.00	\$1,720.00	\$75.00	\$1,500.00
15	Portland Ave East	LS	1	\$115,000.00	\$115,000.00	\$104,000.00	\$104,000.00	\$119,442.00	\$119,442.00
16	Permanent Pavement Marking	LS	1	\$1,500.00	\$1,500.00	\$2,870.00	\$2,870.00	\$2,200.00	\$2,200.00
17	Removal Permanent Pavement Marking	LS	1	\$828.00	\$828.00	\$1,500.00	\$1,500.00	\$3,410.00	\$3,410.00
	Schedule A: First Creek Middle School Sub-Total				\$177,036.50		\$205,113.32		\$192,137.00

Description: First Creek Middle School and Lister Elementary Safe Routes to School

Specification No.: PW18-0433F

				#3 Bi Ceco	10.00	#4 Bidder Titan Earthwork, LLC		#5 Bidder Transportation Systems	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
Schedi	ule B: Lister Elementary School								
1	SPCC Plan	LS	1	\$300.00	\$300.00	\$500.00	\$500.00	\$1,250.00	\$1,250.00
2	Mobilization	LS	1	\$26,000.00	\$26,000.00	\$32,645.38	\$32,645.38	\$30,000.00	\$30,000.00
3	Pedestrian Traffic Control	LS	1	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$7,428.00	\$7,428.00
4	Project Temporary Traffic Control	LS	1	\$25,000.00	\$25,000.00	\$29,529.47	\$29,529.47	\$30,255.00	\$30,255.00
5	Clearing And Grubbing	LS	1	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$13,258.00	\$13,258.00
6	Remove Existing Pavement Type 1, Class A8	SY	430	\$6.00	\$2,580.00	\$21.00	\$9,030.00	\$34.50	\$14,835.00
7	Remove Existing Pavement Type 1, Class C6	SY	130	\$28.00	\$3,640.00	\$35.00	\$4,550.00	\$115.00	\$14,950.00
8	Remove Curb and Gutter	LF	160	\$17.00	\$2,720.00	\$18.00	\$2,880.00	\$13.00	\$2,080.00
9	Remove Pedestrian Curb	CY	12	\$18.00	\$216.00	\$22.00	\$264.00	\$30.00	\$360.00
10	Crushed Surfacing Top Course	TN	140	\$57.00	\$7,980.00	\$58.00	\$8,120.00	\$45.00	\$6,300.00
11	HMA CL.1/2. PG 58H-22	TN	80	\$260.00	\$20,800.00	\$350.00	\$28,000.00	\$401.00	\$32,080.00
12	Catch Basin Type 1	EA	1	\$1,500.00	\$1,500.00	\$2,800.00	\$2,800.00	\$5,817.00	\$5,817.00
13	Adjust Existing Value Chamber To Grade	EA	2	\$600.00	\$1,200.00	\$225.00	\$450.00	\$950.00	\$1,900.00
14	Reconnect Existing Sewer Pipe, 12diam To New Structure	EA	2	\$550.00	\$1,100.00	\$1,000.00	\$2,000.00	\$900.00	\$1,800.00
15	Erosion/Water Pollution Control	LS	1	\$6,450.00	\$6,450.00	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00
16	Site Restoration	LS	1	\$10,900.00	\$10,900.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00
17	Cement Conc. Traffic Curb And Gutter	LF	180	\$43.00	\$7,740.00	\$56.00	\$10,080.00	\$29.00	\$5,220.00
18	Cement Conc. Pedestrian Curb	LF	25	\$30.00	\$750.00	\$73.00	\$1,825.00	\$50.00	\$1,250.00
19	Cement Conc. Sidewalk	SY	180	\$80.00	\$14,400.00	\$106.00	\$19,080.00	\$65.00	\$11,700.00
20	Cement Conc. Curb Ramp Type A	EA	1	\$2,120.00	\$2,120.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
21	Cement Conc. Curb Ramp Type B	EA	1	\$2,120.00	\$2,120.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
22	RRFB Installation, East 44 th Street And East T Street	LS	1	\$60,000.00	\$60,000.00	\$53,000.00	\$53,000.00	\$50,085.00	\$50,085.00
23	RRFB Installation, East 44 th Street And Everett Ave	LS	1	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$48,700.00	\$48,700.00
24	Permanent Signing	LS	1	\$800.00	\$800.00	\$4,000.00	\$4,000.00	\$10,557.00	\$10,557.00
25	Permanent Pavement Marking	LS	1	\$2,648.00	\$2,648.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00
	Schedule B: Lister Elementary School Sub-Total				\$267,964.00		\$298,253.85		\$312,825.00
	GRAND TOTAL				\$445,000.50		\$503,367.17		\$504,962.00
	DBE Total = Less Sales Tax				\$445,000.50		\$503,367.17		\$504,962.00

Description: First Creek Middle School and Lister Elementary Safe Routes to School

Specification No.: PW18-0433F

				#6 Bid	dder	#7 Bid	dder
				Westwater Constr	uction Company	R.W. Scott Conf	tractuction Co.
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount
Schedi	ule A: First Creek Middle School						
1	SPCC Plan	LS	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00
2	Mobilization	LS	1	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
3	Pedestrian Traffic Control	LS	1	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00
4	Project Temporary Traffic Control	LS	1	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
5	Clearing And Grubbing	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
6	Removal Of Structures And Obstructions	LS	1	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00
7	Remove Existing Pavement Type 1, Class C6	SY	50	\$75.00	\$3,750.00	\$100.00	\$5,000.00
8	Remove Curb	LF	90	\$40.00	\$3,600.00	\$30.00	\$2,700.00
9	Crushed Surfacing Top Course	TN	10	\$50.00	\$500.00	\$200.00	\$2,000.00
10	Erosion/Water Pollution Control	LS	1	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
11	Site Restoration	LS	1	\$2,000.00	\$2,000.00	\$6,000.00	\$6,000.00
12	Cement Conc. Pedestrian Curb	LF	90	\$80.00	\$7,200.00	\$70.00	\$6,300.00
13	Cement Conc. Sidewalk	SY	50	\$150.00	\$7,500.00	\$175.00	\$8,750.00
14	Detectable Warning Surface	SF	20	\$50.00	\$1,000.00	\$65.00	\$1,300.00
15	Portland Ave East	LS	1	\$115,000.00	\$115,000.00	\$110,000.00	\$110,000.00
16	Permanent Pavement Marking	LS	1	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
17	Removal Permanent Pavement Marking	LS	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
	Schedule A: First Creek Middle School Sub-Total				\$192,550.00		\$219,550.00

Description: First Creek Middle School and Lister Elementary Safe Routes to School

Specification No.: PW18-0433F

				#6 Bid Westwater Constr		#7 Bid R.W. Scott Con	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount
Sched	ule B: Lister Elementary School						
1	SPCC Plan	LS	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00
2	Mobilization	LS	1	\$35,000.00	\$35,000.00	\$15,000.00	\$15,000.00
3	Pedestrian Traffic Control	LS	1	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00
4	Project Temporary Traffic Control	LS	1	\$40,000.00	\$40,000.00	\$37,000.00	\$37,000.00
5	Clearing And Grubbing	LS	1	\$10,500.00	\$10,500.00	\$4,500.00	\$4,500.00
6	Remove Existing Pavement Type 1, Class A8	SY	430	\$50.00	\$21,500.00	\$35.00	\$15,050.00
7	Remove Existing Pavement Type 1, Class C6	SY	130	\$75.00	\$9,750.00	\$75.00	\$9,750.00
8	Remove Curb and Gutter	LF	160	\$15.00	\$2,400.00	\$24.00	\$3,840.00
9	Remove Pedestrian Curb	CY	12	\$15.00	\$180.00	\$40.00	\$480.00
10	Crushed Surfacing Top Course	TN	140	\$50.00	\$7,000.00	\$95.00	\$13,300.00
11	HMA CL.1/2. PG 58H-22	TN	80	\$400.00	\$32,000.00	\$200.00	\$16,000.0
12	Catch Basin Type 1	EA	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
13	Adjust Existing Value Chamber To Grade	EA	2	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
14	Reconnect Existing Sewer Pipe, 12diam To New Structure	EA	2	\$100.00	\$200.00	\$1,400.00	\$2,800.00
15	Erosion/Water Pollution Control	LS	1	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00
16	Site Restoration	LS	1	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
17	Cement Conc. Traffic Curb And Gutter	LF	180	\$60.00	\$10,800.00	\$60.00	\$10,800.00
18	Cement Conc. Pedestrian Curb	LF	25	\$80.00	\$2,000.00	\$75.00	\$1,875.00
19	Cement Conc. Sidewalk	SY	180	\$150.00	\$27,000.00	\$85.00	\$15,300.00
20	Cement Conc. Curb Ramp Type A	EA	1	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
21	Cement Conc. Curb Ramp Type B	EA	1	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
22	RRFB Installation, East 44 th Street And East T Street	LS	1	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00
23	RRFB Installation, East 44 th Street And Everett Ave	LS	1	\$50,000.00	\$50,000.00	\$59,000.00	\$59,000.00
24	Permanent Signing	LS	1	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00
25	Permanent Pavement Marking	LS	1	\$5,000.00	\$5,000.00	\$4,200.00	\$4,200.00
	Schedule B: Lister Elementary School Sub-Total				\$336,830.00		\$311,895.00
	GRAND TOTAL				\$529,380.00		\$531,445.0
	DBE Total = Less Sales Tax				\$529,380.00		\$531,445.00